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80 AT IR AT 1 87
90 FEHATIRAT 1 185
100 dt D HLET 0 133
110 T HT 3 1354
120 ¥A;TAHT 1 238
130 ¥ FHT 0 398
140 EAERT 0 7
150 & FFrHET 0 324
9999 K FRXET 11 4248
510 RETIHT B 0 419
520 HEEEHT 0 152
530 /\T&HET 0 232
540 15 /= HT 0 407
550 $TithET 0 361
560 =ZEMT 0 63
570 EEHT 0 71
580 ¥TEAHET 0 136
590 ¥ ;EHT 0 63
600 ZERET 1 643
610 FHT 0 157
620 ¥EET—TH 0 0
630 FAEBTZTH 0 2
9999 /\ & X5t 1 2706
1010 E HHT 0 208
1020 £ A HT 0 340
1030 b [ HT 0 350
1040 &8 FHET 0 569
1050 £ HHET 2 697
1060 F_EHT 0 596
1070 Fy[RHET 1 693
1080 &= HHET 0 424
1090 BH&EHT 1 658
1100 L HEHT 0 631
1110 fRIEET 0 154
1120 {BI1E JTHT 1 80
1130 +5:HT 0 25
1140 FkJRHET 0 13
1150 F/RET—T B 0 204
1160 F/RET—T B 0 239
1170 ;5 7KHET 0 164
1180 BB&ALHET 2 233
1190 #&FAHT 0 198
1200 XFHEI—TH 0 134
1210 XFHEIZTH 0 168
1220 #HrHT 0 153
1230 #EHET 0 175
1240 B EHT 0 118
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1260 B @ 0 42
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1290 $RHET 0 176
1300 & ZEHT 1 144
1310 RILGHT 1 81
9999 KHEMZX 5T 10 8057
1510 AEHD_E BT 1 794
1520 }EHI T ET 2 743
1530 HE#FTHT 0 312
1540 K{g3HT 0 559
9999 HEMIE X &t 3 2408
2010 Z EERHET 0 190
2020 %= EFaHET 1 303
2030 SE0HT 0 20
2040 :ET—TH 1 220
2050 MBET=TBHB 0 205
2060 ¥g f¥fT 0 39
2070 FxEBT—TH 0 255
2080 +RETZTH 0 199
2090 THIKHET 2 1837
2100 hiLHT 0 273
2110 KEMIETET—T B 0 248
2120 HEWIEET—TH 0 306
9999 ZERXET 4 4095
2510 ¥AZHET 3 2328
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2530 =/MEHET 0 389
2540 FHi5HT 0 466
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3060 HESTHT 0 511
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3080 HHRHT 0 480
3090 HHRERHAT 0 464
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3510 £/F LHT 0 193
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3530 2R THT 1 1038
3540 Z= B KHET 0 410
3550 AEFHT 1 809
3560 &= T ERAT 0 301
3570 & T AT 0 820
3580 F|LIFrHT 1 536
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3590 EHT 0 18
9999 S HKXEt 5 4512
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4020 {E&HT 2 94
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4040 = HEAHT 1 252
4050 7K EHT 0 520
4060 E5Z4 HAT 1 384
4070 JtJRHET 0 189
4080 =;T;HAMT 0 232
4090 55 jERHT 0 327
4100 g FFOAT 0 148
4110 JtFFET 0 173
9999 &M XET 5 2885
4510 EREE—ZEHT 2 753
4520 EREE—ZEHT 1 197
4530 EREE =Z5HT 0 217
4540 EREEIUZEHET 2 180
4550 EREE R ZHT 0 112
4560 EREE/NEHET 0 105
4570 EREEHZHET 0 155
4580 EREE/\ZFHT 0 102
4590 EREE N ZEHT 0 157
4600 AR+ ZHT 0 222
4610 EREE+—ZHHT 1 257
4620 AR+ —FFHT 0 388
9999 AREFERXET 6 2845
5010 FAFNH AEHT 0 237
5020 RRF0BAELET 0 222
5030 RRF0[RI{—HT 1 252
9999 RRFIMXET 1 711
5510 b R HET 1 224
5520 = HhHET 1 664
5530 FA=HT 1 500
5540 wy ZERT 1 280
5550 AT 0 60
9999 iR X &t 4 1728
6010 FEIHET/MER 0 104
6020 [EHET o 0 120
6030 FEIRT &I 0 98
6040 Bz FFHT 2 222
6050 JI|EHATE 0 160
6060 JI|EHATF 1 123
9999 FEERXET 3 827
6510 HZEAFBHET 0 24
6520 H &= A KIEHET 0 215
6530 HZEAFTHET 0 98
6540 HZEAILUTHT 0 198
6550 B =AM 2 NET 0 90
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7010 — &M O ET 1 175
7020 — RLAHT 0 236
7030 = R IRHNET 0 107
7040 — BT KEFHT 0 205
7050 — R 7 H I ET 0 109
9999 — R&XEt 1 832
8011 SRAETFGHERLY 0 62
8012 IR AHTFHERA 0 140
8013 Y AHTFEER (& 0 78
8021 R AHETZFEKLY 0 79
8022 IR AHTIE/KA 0 3
8023 IR AHTIEKIL 0 9
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8032 IRAHTHAA 0 10
8033 FAETH AL 0 15
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8042 R AHETELIFA 0 25
8043 Iy AHTHLIF (X 0 14
8044 YR AHETHELIFIZ 0 28
8045 IR AHTHLIR (X 0 48
8050 IR AHT A 1 133
8060 IR AHTFT 1 113
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8080 Ik AHT &k 0 53
8090 I AHTH;EE 0 40
8100 JRABIH/{% 0 17
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8120 R ARHETERER 1 88
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8140 IRABTEFRKT 0 123
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9450 RETHER 0 18
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